ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR PHYSICS & CHEMISTRY
240 QUESTIONS (2013-2020)

Betatron is a device for accelerating

\mﬁ Electron

(C) Proton

SCLm_yrén @ssE@ar WOEGD RO SO
(A) ereusLymen

(C) yGpmiimem

The fertilizer which is called as ‘nitrolim’ is
(A)  Super phosphate (B)

M Calcium cyanan;ide (D)

‘eapLCrredln’ sremmenp&siLBid e b
(A)  @uuir ureGul (B)
(©) sredflwd swearew® (D)

(B) Neutron

(D) Meson
B) Byt e
| (D) Cuemen

Caleium ammonium nitrate

Sodium nitrate

srodlwn subGuraflub epl Gl
Gemguid enp G

Which organic compounds polymerize to form the polyester Dacron?

(A) Propylene and ethylene glycol
(B) Terethalic acid and ethylene glycol
(C) Benzoic acid and ethanol

@)” Dimethyl terephalate and ethylene glycol

s saflng Caimolb LU WTEsUIUL G Ausyrer urdidu it S Apg?

(A)  yroQden wpmib ergHeSen Aemenssmed

(B) Qufigneda siblewb bHmb ariHden Henerssmed

(C) Quemsmuis sudleb WHD TSSO

(D) @ Qusdod QuiumrGal whpb asHden daeaasTd .
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The pH of a fertile soil is usually around

@) 2-3 67
(D)

(©) 8-10 11-12

auamd wHmid eiflwiwrer wamesflen pH
A 2-3 . ®) 6-7

(C) 8-10 D) 1 —.12

Bonding present between the carbon atoms in graphite is
(A) Metallic
(B) Ionic

% Covalent

(D) Vanderwaal’s forces

&lyrenuig.h sTUGT Sigmidser @eanCprALrenm ereueurm Naarssiul_ (Heraren?
(A) 2 CarsulGeameanriiy
(B) swelulameanriiy
(C) ssu9@ariy
D) arar_ieurda Geeanrii
The hardest naturally occurring substance is

(A) Iron (B) Graphite

% Diamond (D) Astatine

BupeslCatu Wss siganons Han_&@b Qummer erg?
(A)  @mwy (B)  &grenul

(C) eeugd (D) sievmenL_en
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If the quantity of energy radiated by the sun is 6.3x10°wm ?. What is the surface
temperature of the sun by considering sun as a black body. Stefan’s constant is
5.7x10*w-m= -k™*

(A) 5667K (B) 7566 K

y 5766 K (D) 6756 K

Gflwen Qauefllu@ssnd Holar etey 6.3x10° wm™? aafl®d, Gflwer @m smb QurEmens
smaULELCUNg. g Cuoouriy QaluBmeular oeTmels seansflHs. eveus wTH =

5.7x10%w-m™=2 -k

(A) 5667 K (B) 7566 K

(C) 5766 K (D) 6756 K

The frequency of radio wave is about Hz.
(A) 109 % 10°
(C) 10 (D) 10°
aurren ieneulles BjamaBerd Hz.

(A 10" (B) 10°

(C) 1 010 (D) 1 02

Super phosphate of lime contains

(A)  Ca,(PO,), (B) CaHPO,

_(©)  H,PO, W( Ca(H,PO,),

GuuT urevGuL — e arenp 27580 BmLig
(A)  Cayu(PO,), (B) CaHPO,
(C) H,PO, (D) Ca(H,PO,),

What is the unit of momentum?

% Kgms ! (B) Newton

() Kgms (D) Kgm's

BlwEs DieraSlel VG Mgy ?

(A) Kgms' (B) Bup L e

(©) Kgms (D) Kgm™'s™
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The rate of cooling of a body is proportional to
(A) difference between initial and final temperature
(B) final temperature

mean excess of temperature

(D) initial temperature

e Qunmellen GeflTey efllglo —————— earangy.
A ymou wppib nd CaudiuBlae Caumun®

B)  @pfAaiufown

(C) @remgHEd CopulL 6@ Qauiuib

(D) symbu Qeudiub

The rate of diffusion is large in

‘)/ Gas B) Liquid

« (C) Sohd (D) Metal

eflyeud el s s swns @) méed Qunmer ag?
(A)  eumy (B) prwbd
(©) HruQumrmer (D) 2 Canswnd

What is an aplanatic lens?
(A) A lens free from coma

/ A lens free from spherical aberration and coma
(C) A lens free from spherical aberration

(D) Combination of two lenses

SUQepm g & (Aplanatic) Qeens eremmmed eresmen?

(A) Casmonr @éeng Qeens:

(B) Ganmer auigeu @eopun®w, Camoreybd Gaorg Qaers
(C) Ganer cugeu @eopun® @aoeng Qadrs

D) G Qeassaflen sal 1w
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Which of the following devices makes use of piezo-electric property of a crystal?
(A) Wall clock
(B) Atomie clock

(C) Electronic clock

% Quartz clock

@ Uy ssHa gHuL (WS- e eflenarays Gamatenseni LweTUBHSHID el ergy?
(A) 5QUITE &g &HMILD

(B) signs sysmyb
(C) leneng)id &g &y

(D) @eaurniev sgaryw

As per Bronsted concept, acid is
(A) accepting a proton
(B) accepting an electron

© donating an electron

M donating a proton

SgeseivL_ I eflFulerr Lg, Sblab eresTLig)
(A) &b LGrmL_mener QuibmE&Qareardlmg,
(B) S sTes _grenen Qupmstararflmg)
[(®)) G(H TS _Frenen culpmGEmng)
(D) & YCrmLL_nener eupri@GElma
The chemical name of ‘Vinegar’ which is used as preservative is

(A) Formic acid (B) Acrylic acid

/ Asetic acid (D) Maleic acid

e_ewrayls Qumgssenear Qs mod ungierssn ‘daflsair aaufen CaufuQuuT arenen?
(A)  Sunindlé bl (B) =5fledls snflan
(C) =l igé sfed (D)  weluié spdab
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The compound which is called ‘Common salt’ is

/ NaCl (B)  CaCl,

()  AICl (D) LiCl

Qurgieuna 2 Ui erepenpésiuRb Gamo erg?
(A) NaCl (B) CaCl,

(C) AlClL, (D) LiCl

The Ozone Deflation is mainly caused by the gas

w/ CFCs ~ (B) SO,

(C)  Na, (D) CoO,

@Csren sy flellanen siflseraiier 2 Heaurd@En eumy
(A) CFCs (B) SO,
(C) Na, (D) COo,

Which one of the following metal is not present in steel?

(A) Cr—Chromium (B) Ni— Nickel

(C) V- Vanadium v@f Zn — Zinc

aToo@elled @b Qupns 2 Camab ergy?

(A) Cr-@Crmdwid (B) Ni- fasd
(C) V-Caulpiguud (D) Zn - @is
Identify the ore of iron
j:dagnetite (B) Felspar
(C) Bauxite (D) Cuprite

Sipésar_eupBle G mbLeden srgri@ummer erg?
(A) CusemenL (B) JQuéevumi
(C) ursemaevi D) U
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What happens in oxidation reaction?
loss of electrons

(B)  gain of electrons

(C) loss of oxygen

(D)  gain of hydrogen

2 sadigCan nbp enendés acen BpAng?
(&) ewslgrasaflan @iy

B) sl grasefdn gHy

©  ysaliger @y

D) sl apy

|
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The Acid Rain destroys the vegetation, because it contains
() Carbon monoxide \ P Sulphuric acid

- . - <
(A)  aplCol (B) @Csnen
(C)  anirudn Cuorammiens( D) sdiwMé suflab

Galena is the ore of which of the following metals?

(A)  Silver
‘% Lead
© ‘Gold

(D) Iron

scSenn crénug Spssdr_cupila o et arhs e Canssda sraAUTmET?
(A)  Qeudref

(B) snrfwubd
(C) srsnd
(D) _ﬁ@lbu
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What happens in the reduction process?

(A) loss of electrons

5/ gain of electrons

(C) loss of hydrogen

(D) gain of oxygen

20és lwanie Spsacm_aupda aeanen Hauwdpg?
() ecas_grenasdr @y

(B) eoalgrensar ey

(€ eanCyger Gpoy

D) abadigen ghy

Which of the following is sensitive to ultrasonic waves?

(A) Man 7 Bat

(C) Bird (D) Fish

GCaamm gallenws 2 e (D SENEDID WITHES, 2. crang)?
(A)  wvafigen (B) Qeusreumed
© uvpea (D) B

What is the value of gravitational field at the centre of the sphere?

Mr
Vs Wig

o D) -GM/r*

Garerl yerefl @wwgde yeluSiniy yeosHear wdiy wng?

@) s B) —‘g
7 A ®) -GM/r*

r
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1 Femto is equal to —————m.

A 10° \a('m"'
(€ 10° (D) 10°

1 QuiCGur (Femto) = ——————— BLLit.

A 10° : (B) 107
() 10° D) 107

Which one of the following is the correct composition of Brass?

(&)

Cu—50% ; Sn - 50%

/Cu—GO%;Zn—40%

©)

(D)

Zn—70% ; Sn - 30%

Fe — 40% ; Ni - 60%

Spasan_cuphe 9ssmanuiern sfiwrer o Cansaswamauian speisb erenen?

A
(B)
©
D)

Cu - 50% ; Sn - 50%
Cu—-60% ; Zn—40%
Zn - 70% ; Sn — 30%

Fe — 40% ; Ni - 60%

The Epsom salt which is used as laxative is

,ﬂ( MgSO, - 7TH,0

B)
©
(¢8)}

CaSO, -2H,0
ZnSO, -7H,O

CuSO, -5H,0

wed Gersfwing LWETUL &Falg i TUSD 2 UL 61 ?

A\
B)
©

(D)
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MgSO, -7TH, O
CaSO, -2H,0
ZnSO, -TH,O

CuSO0, -5H,0
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What is the basic concept of Raman effect?
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Match the following:

(a)
(b)
()
(d)

Ve

® 3
© 4
D) 1

Radio active waste
Bio medical waste
- Cyanide waste
Small amount of chemical waste

@ b  © @

PO RN
WMo =
o = B WO

QursEs

(a)
(b)
(©
- (@
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sl cSis 5y

owpee 5o
mswenar® sifley
Afsereurar Gauu sl

240 QUESTIONS (2013-2020

B R e

- W N -

Incineration

Land fills ;
Surface 'impo_utidment
Bioremediation

arilgg FmbLQTEEED

Bosdo Hriusd

Cupurie apy.meussn
e uiflwg Siey

VEHFLD LilFenFds @ FLoLb.
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Which one of the following proc;:ss 18 used for the concentration of Argentite ore?
(A)  Gravity separation method
y Froth Floatation method
(C) Electro magnetic separation method
(D) Chemical method

Qeneumeuameun i) SifmenanL L g ehs apermuiled oL mnlssLu®apg?
(A)  yeluSriy enp

B)  merwdiy e

(©) JBensrmbzgl AfLY peom

(D) Caflwe apeop

Which one of the following compound is used in the treatment of asthma and whooping
cough?

(A) Benzyl alcohol
(B) .Benzyl acetate

\M Benzyl benzoate

(D) Benzoic acid

Qemeumeuaneudmar 6thg Camod e IO WHMID S&EGTe GBS HHSTS LwetuHEng ?
(A) Quenense ywsanmed

(B) Quenemser G

(C) Quenanse QuenCGaenGuil

(D) Quensmils oybed

A new form of matter, named excitorium has been discovered by whom?

\M Bert Halfer (B) Bert Kepler
(C)  Bert Shalper . (D) Bert Walper

aré&adl_CGrraflwib et EP&HUILIHID LJQHJ SISET WMy Seri M Lg?
(A) Quirl Gaméouir (B) Quil Qamiiert

(C) Qurl agreou (D) Qui eumrdum

SVEHFLD LilFemFdh@ FLOLD.
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Which one of the following Hybridisation is present in PCls molecule?

(A) sp’d®
M Sp®d

(€ sp’

(D) sp’

Weneumeuaraunler erbgp @eansamiiy PCls ppaseatle o erang?

(A) Sp*d?

(B) Sp’d
(© sp’

D)  Sp?

Find out the correct equations

I H=V?1It

I V=IR

Il P=VI

1AY F=mV?

(A) TIand]Ilonly (B) III and IV only
W 1l and Il only (D) 1and IV only

sflwurer swenur@amars CarbosH S8 61105
I H=V*It

Il V=IR

I~ P=VI

IV F=mV?

A) Twomw Il v @w (B) I wpmw IV vl @b
(C) II wpmw IIT w G D) T wompd IV ol @on

SVEHFLD LilFemFdh@ FLOLD.
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Red light has a wavelength of 7000A°. In ‘nm’ it is,
(A) 7nm (B) 0.07 nm
(C) 70nm 700 nm

Sautiy Flp geflulen enaBerd T000A°. nm- igen iy
(A) 7nm (B) 0.07 nm
(C) 70nm E (D) 700 nm
In uniform circular motion, the linear velocity perpendicular to
(A) radius M

(C) force . ‘ (D) 'momentum

radius vector

Synen et Qwéssdled CrraCan () HasCasb Spsan_aupner asn@ AshGss1s QmEEWD
(A <=y (B) <y QeusLm
(C) eflens (D) 2Hsb

What is the valency of Nitrogen with atomic number 7 and mass number 14?

7 B) 7

© 9 M 14

g e 70 Hleom eraier 140 Qanar. plygen Signedlen Gememdnen crenen?

A 5 B) 7

© 9 D) 14
Identify the diprotic acid from the following set of acids
(A) HNO, W87 H,S0,
(C) H,PO, (D) HCI

Epésan. siflomsafle @m yCrm_Lneafls (o yCrmg s) Siflwsms sam®iGy
(&) HNO, (B) H,SO,
(©  H,PO, (D) HCl

SVEHFLD LilFemFdh@ FLOLD.
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Which of the following is not an insecticide?
(A) malathion

(B) parathion

M isoprene

(D) diaginon

Epssam _aupdle erg y&8lsQamaed wmpsadw?
(A)  wvrergwren

(B) umnswnren

(©) glsmGfien

(D) cwngenmen

Einstein got the Nobel prize for
(A) radioactivity
(B) polarisation

(C) relativity

M photo-electric effect

abg s GHE genevesn Cprud ufls QuporiT?
(4) sPflwssnd

(B) serellenarey

(C) smmwe

(D) qafl Bler cflenarey
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Name the device used to produce high output power

(A)

Ruby laser

Semiconductor laser

\K CO, laser

(D)

Dye laser

2ifls serellorer safaw 2 pussl Qawbemyw 2 LSTETD 6Tg)?

(A)
(B)
©

(D)

™9 Casrr

Sionrss a8 Cosr
CO, Casir

smw e

" Visible light of solar radiation supplies the main energy for photosynthesis Point out the
wavelength of visible spectrum

W7 300 nm to 720 nm
(B) 720 nm to 820 nm
(C) 280 nm to 300 nm
(D) 1100 nm to 1900 nm

Gflué sfisclld stansmyw ol gafiCsismssaran séflorw auphGing. Seupllda H@afend

GHu9Gs.

(A) 300 nm to 720 nm
(B) 720 nm to 820 nm
(C) 280 nm to 300 nm
(D) 1100 nm to 1900 nm

SVEHFLD LilFemFdh@ FLOLD.
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Which of the following compounds of nitrogen is called ‘Laughing gas’?

(A) NO Nitric oxide

\ﬂ( N,O Nitrous Oxide

(C) NO, Nitrogen dioxide

(D) N,O; Nitrogen pentoxide -

Sp&asc eovplymen Camoriisaild arg ‘Hfissmaid@n aumy’ aam sieopsstuBpgs?
A) NO enpl_ & &mav®

(B) N,LO enp_gev p&Eanen(®

© NO, enpl_ngmen evL_sp&enav(®

(D) N,O; enp_nggpen Quiam_n&enev(®

Name the raw material used in the production of glass
A) mica
@) quartz

«© plastic

M silica

samenTmy SWrMindd vweaTu@E@SsUUBWL apeQurEpeT wrg?
A owEST

(B) Geuri_ev

© Gerravig &

@O Hedlsm

Who discovered X-rays?

(A Bardeen
\ﬂ( Roentgen
) Weiss

a) Mari Curie

X-sflascnar st g S0 winm?
[N Limfrie bt
> grestTL_gesT
«© aSev
) CoM-Sgy®
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Which 1s a Lewis base?
&) BH, @’ NH,
(©)  LiAlH, (D) AH,

Getreumeuaneuniled ergy enuilav smyn?
(A)  B,H, (B) NH,

(C)  LiAlH, ~ (D) AIH,

Which of the following is the ore of titanium?

M Rutile (B) Hausmannite
(C) Wolframite : (D) Scheelite

&@éa&‘e&én_mﬁ)gjdr argl oL L CGLaflwgden sng)?
A) emlere (B)  apmevwenane

(C) o éLligennol. (D) &aeri_
The number of coulomb required to liberate 127 g of iodide from potassium iodide solution is '

(A) 53 coulombs (B) 7 coulombs
W 96500 coulombs (D) 127 coulombs

127 8l sCwmgeran, QuiLrdlwb 2CureaL () sorsadedmps) QeuafiGumbms Coemeu LB smeydlen

araremfl&ena
(A) 53 sm@ibsdr (B) 7 squibaier -
(C) 96500 amguibser (D) 127 sagibser
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Which of following is used in making printer ink, shoe polish and paint?

(A) Lamp black \M Bone black
(C) Carbon black (D) Copper black

Yemeumeuamaummier FsUQUTD, Qemuy urdldy wHmbd GQuiar@sefied vweaTuBSSILGL
QummeT wimg)?
(A)  eflends smuy (B) erapibiy smULy

(C)  smiuen smULY ‘ (D)  smiur smiy

A spring is hung vertically with a mass ‘m’ attached to its lower end, the spring experiences
an elongation ‘d’. Then the force constant of the spring is proportional to

(A) d/m (B) md

M mld (D) m®d

@ sbGssmar Oenugssns QsmusellLliu@erag. opar &) oadd Hop m
sl uCerengre, swesmer d eranm Ber Bflanw e dpg. SLCUNg), s Assmalean allens
wrhlelullen Coisssey

(A dim B) md
©C) mld D) m?d

When sound waves travel from one medium to another medium, the quantity that remain
unchanged is

(A) Speed %requency

(C) Intensity (D) Wavelength

G si@masar g 2aLssSdmbs LHADTM® e _ssHbE QedabCug), SpEsaTLUHHET e
D4GTGY LOTM ) (&L ?

(A) Ceusid . I (B) odnmQeuam
(C) Qadley (D)  siemebard
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Who discovered Gamma rays from the following?

\/ Paul Villand (B) Marie Curie
J.J. Thompson (D) Adam Osborne

Gamma sdligemer sem Bl sseur wmi?
(A)  ume efleontp (B) Cuwfl syf

(©)  J.J. gmbeven D) L evGumien

WIMAX is related to which one of the following
(A)  Biotechnology (B) Space technology
(C) Missile technology M Communication technology

WIMAX crenuigy eneupeuaieupiled emhs Qamflér mpusmas snibss)?
(A)  Biotechnology (B) Space technology

(C)  Missile technology (D) Communication technology

The element which is an essential constituent of all organic compounds belongs to
group:

(A) 15 group

M 14% group

(C)  13* group

(D) 16 group,

Simandgs sflns CamnomsEné@w SiguuamLwnen galwhd ———————— Agn@gHuie o drergy.
(A) 15-geag Cgredulia

®)  14-s05 ApraHiGe

(C) 13-gyeug AsnaHule

(D)  16-yeug AsreHuled
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What is the compound of calcium used in white-washing buildingsf?
(A) Calcium carbonate

M Calcium hydroxide
(O); " Caléivincxide
(D) Calcium sulphate

~

SLLLRSEH6E Qeudtenemnuig UUSHE LweTuHn 5no’.)5lm§ﬂdn Gamowb ergy?
(A) . sredlwd smruCean_
(B) sréoflwd ean_yréams(

(C) sroflubd Héme®
D) &nodlwb saGul

Electromagnets are made of soft iron because of soft iron has
(A) low susceptibility and low retentivity

M high susceptibility and low retentivity
(C)  high susceptibility and high retentivity
- (D) low permeability and high retentivity

Bensmpgrsear Caaflmoy Qamran® e maunssuu@dapar. gQlaaflld CoafllmbLneang
Qanear (Hereng.

(A) GODHS sMHE THUS HDOSTLLD, GODEUTEN IBSEMHEHS SIeRTLHEU{LD

B)  ofssmis ghus Hoeenyd, Gopanear Bsenhss Siam_moud

(C) fswran s1hHs gHUS Snewanb, sifswrer Bsenhss siem_maub

(D) @Gopeunen snhs gHus Snemenyd, sifswraBssThss siam_mowb
When a car is moving on a circular track the centripetal force is given by the
between the road and the tyres.

(A) attractive force M frictional force
(C) electric force - (D) magnetic force

awmaeu ureglld s gap Fmoyd Curg LuBsEL steescd HeLCw o drear
owwuCpras clamsmwu gHUBSHID.

(A) miay eflens (B) eogmieyeflens
(C) (Nen ellens (D) &smis flens
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The distance between the molecules is

(A) 10A B 1A
©) 10 %m D) 10%m
epugsamsensdlen _Cuuiner Ggmenaey
f 10 A ®) 1A
(C) 10°%m (D) 10%m

Which of the following is correctly matched?

Apple - Oxalic acid

I1. Vinegar - Acetic acid

I1I. Grape - Malic acid

IV. Tomato - - " Citric acid g

A 1 J I
(C) I (D) IV

Spssam_qupmer sflwrs Qur@mEssLULHererg og?

L S Ser - S Eeurellsd sibleh
II. cfeflad - 2855 sufled
1.  fAgmiens - wrelld sidled

IV. saanafl - A A& suded

@A) 1 @B 1II
(C) I D) 1V

Which one of the following is correctly arranged in their increasing order of reactivity?
(A) Mg>Al>Ca>Na
M Na > Ca > Mg > Al
(C) Ca>Al>Mg>Na
(D) ‘Na>Ca>Al>Mg

&) = shareupifiey, Sieupflen Qsudnen Sy lueamLubiie gneufiasuic arg sMureag?
(A) Mg=>Al>Ca>Na
(B) Na>Ca>Mg>Al
(C) Ca>Al>Mg>Na
(D) Na>Ca>Al>Meg

SVEHFLD LilFemFdh@ FLOLD.
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Match the following :

(a) Newton 1.  Radioactivity

(b) Albert Einstein 2.  Laws of planetary motion
(c) Marie Curie 3.  Laws of motion

(d) Kepler 4.  Relativity theory

() (b) (c) (d)

a 1 3 1 2
\y 3 1 1 2
© 2 1 3 4
D) 4 2 1 3
Qunmsgs :
(a) Biien 1. sftiussd
(b) eyt mercvied 2. Candsaficn @uis hfsdr
(c) Cuf aguf 3. QuésBfsda
@ Qavent 4. Apoy sninfué Qsrdms

- Which of the following is used as anaesthetic?

(A) CO, carbondioxide
(B) C,H, ethylene

‘(f CHCIl, chloroform

(D) NH, Ammonia

Episam_aup Bl WILESLHHSTE LI SMHauE aTE?
A) CO, sflwde sumy

B) C,H, asdden

(©)  CHCI, gCamGymumid

(D) NH; swCureflwm
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Which of the following compounds is called Baking Soda?
(A) Sodium Carbonate

\(f Sodium bicarbonate
(C) Potassium Carbonate

(D) Caleium Carbonate '

Epasam_. Cemogdla Qprdle iy ereng) o7 Si@pssuuBHEng?
(A) Coemguid artuGen_
(B) GCamgquwib enu srruGean

(C) QumiiLnrSlud srruCem

(D) asreflwub srmuGent

What is the audible range of sound for human ear?

M 20 — 20,000 Hz

(B) > 20,000 Hz
(C) >20x10'Hz
(D) <20Hz

wefisalen srgasame 2 arguLL gadlulan siHiteusarentien whli erenen?
(A) 20-20,000 Hz

(B) > 20,000 Hz

(C) >20x10*Hz

(D) <20Hz
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What is the excess pressure inside a soap bubble?

(A)

(B)

(D)

27

r

TIr
aT

r

I

2]
-

b

e Ganuy Gullflullen 2 L LnsHd o drar s psssden wHliy eremen?

(A)
(B)

©

(D)

2T
r

T!r
AT

r

r
2r

‘Which of the following statements will be most suitable for KMnO, ?

A)

v

©
(D)

It is a strong acid
It is a powerful oxidising agent
It is a powerful reducing agent

It is a strong base

Epssan ansdlwnsafldo KMnO, -4 Blal Qurmssioneang) erg?

(A)
(B)
©
(D)

2iF @ cusdleno W@ Sifled:

G R auedlantowimen 2 salmCanpm sryenf
DG P euellenowime hss snyesil

215 @ euedlenwo LAl @; muib
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Which of the following is an disinfectant?

A)
)

(( &

@™

ABT
\?f‘ DDT

NPK
CFC

Spssa_cupmiar Slgpdiprfleil wapnba oTE1?

A
B)
)

@)

ABT

DDT

NPK

CFC

What is the value of temperature co-efficient of a ceramic dielectric?

A)
(B)

oS

(D)

Zero
positive
Shfinity

negative

Sriusren Bensmiysailen Qauliug Gamssdlan wHi crenen?

(A)
B)
©
(D)

wRHub
Cpimoeon
apgefiden

arimoenm

Where should metacentre of a ship lie, to keep it in equilibrium?

(A)
(B)

N

(D)

below its centre of buoyancy
below its centre of gravity
above the centre of gravity

above its centre of buoyancy

@ suud swoflemaoulld Pmeés CauarGCuuwramd Sssuudea Wgmasds sy ewwbd amGs

B wés Gaign®ib?
A) dgea @wowsHbde &1
(B) '*"“l"-l.“’w"-'ﬁﬂﬁ’O 29
(©) midy ewwsHnE Cuwd.
(D) Hsemas eowzSHne Guod
SVEHFLD LilFewFdH @ FLOLD.
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Which of the following gases are mainly present in the Sun?

(A) H, N,
(B) H,.0,
SN\ H,, He
(D) H,. Ne

Qenaumb eumnyssafler @fwuaile siflswns sramiu®b eunuésar aaneu?

(A)  H, N,
(B) H, 0,
(C) H,, He
(D) H,, Ne

Consider the following statements.
Assertion (A) Diamona is not a good conductor of electricity.
Reason (R) : It has no free electron.

Both (A) and (R) are true and (R) is the reason for (A)
(B) Both (A) and (R) are true and (R) is not the correct reason for (A)
(C)  (A) is true but (R) is false
(D) Both (A) and (R) are false

Spaar_ cunrsdlunseme seuallsseb.

sapm (A) i eveumd @ WenaL 8 Bidve.

smpewrd (R) Qs saflés eaws grewer Qupdméseiierena.

(A)  sapm (A) wpmb srged (R) @ram®o sfl. (R) gyang sammy (A)-an sflwunan sryestd @0
(B)  spm (A) wpmyd smyemd (R) @rean@o sfl. (R) syeng sappy (A)-en sflwinen smyesmd side
(C)  @mmpm (A) &, sryesd (R) seumy

(D) smnm (A) wopw smremd (R) Grem®w seum
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Carbon forms large number of organic compounds due to
(A) Isomerism

(B) Allotropy

.M\ Catenation

(D) Tetra valency

smiuen sflsuugwren sflw Camomgmer 2 (Heunss sTreRTDd
(A) rHOWILD
(B)  ymCGaummenio euigeulh

(C) smdld Ggm_grésd
(D) preng @Qeandpen

Fuse wire used in an electric circuits is based on the principle of
(A) Charles law
(B) Newton’s law of motion
Joule’s law of heating
(D) Newton's law of cooling

Beanzpmssafic uwauBo Bl o me Qo ahs flfulian g lum e Qewupu®fng?
(A)  snmieen e94)

B) Pyl eaian Quss e

(C) g9 Qautiu ellenerey el

(D) Puwlaflen @aiiey efld

Electromagnetic waves are
Transverse wave
(B) Longitudinal waves
(C) Transverse and Longitudinal waves
(D)  Neither transverse nor longitudinal

WOEMHS HMOHET GTEmLIF)

(A) @gé&mmsd}

(B) Gnlieesdar

(C) enssmsa WHHIWL ABL L&

D) EDEsPDEEHD DD BB LDVSEHD DR
SVEHFLD LilFemFdh@ FLOLD.
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A particle moves with constant velocity, what is the force acting on the particle?

(A)

(©
(D)

Always zero
Need not be zero
Always not zero
None of these

wrprg HensCeaussdice Qeagib gsaflan Bg QeawouBb efasulien wHliy ereren?

(A)
(B)
(&)
(D)

eu@umupgo &
sPlwng @(més Couarrigw seuflwibldame

eru@umupgin sWwoo waluy
CupaaTL ergieyblieame

Which of the following are carbonate ores?

(A
(B)

Cryolite, Fluorspar

Bauxite, Cuprite

\M‘ Magnesite, Siderite

(D)

Galena, Cinnabar

WenaumeuaeudmieT STTLGEIL STFHEHET GTenal?

(A)
(B)
©
D)

SanGuinenedL., o oLI(@pTevLImT
UM&ENEVL; GUenTL
Quseaiens_, Sl_eny_

sedenm, Slemarimit

According to Modern Atomic Theory which of the fqllowing.statement is wrong?

A)

N

©
(D)

Atom is the smallest particle that takes part in a reaction
Atoms are indivisible
Atoms of the same element may not be similar in all their properties

Atoms of different elements may be similar in some of their properties

paien gms Qarearensaw s Qurmsseueny YemeuHd TEEDD SUDTEIZ?

A)
(B)
©)
D)

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.

sigm aenug Gagalleanuie rHUEL WsFSBlw gsmer
Sigmssar Gearés Guiensamaeu
R saflGHen SMATSF EHEHD SiMATHHIL LTSI @SSlmés GCeuamguigldame

QeucuCGaum sefloisailen vasser fa uaTysaie @58 [HEE0D

SVEHFLD LilFemFdh@ FLOLD.
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‘What is the covalency of nitrogen in ammonia molecule?
A 2 R (B) 4

N s | ®) 5

2Cwraflureile o drer enpLygeflen saSleneanTiiL) ereir

A 2 . ®) 4
© 3 D) 5
Which of the following is strong acid and strong base reaction?
(A) HCOOH + NH, ' (B) HCOOH + NaOH
(C) HCl+ NH, M HCl + NaOH
Gemeumeuaneunmet eiflw Wl@nHs <iblon whpib eSflw BlEss sy @ Caibg earBE&sa b
(A) HCOOH + NH, ; (B) HCOOH + NaOH
(C) HC1 + NH, ) (D) HCl+ NaOH
Methane is the carbon compound. It's Molecular Formula is
S o, (B) CH,CI
(C) C,H; : (D) CCl,
BsCaen g sniueman Qaram(HeTar i PO&HID. HSEUML I APOESaD cumiLUmH
(A) CH, (B) CH,;Cl
(C) C,yHg (D) CClI,
Nitrous Oxide is known as Laughing gas. It is also used in medical field as
(A) Instant horse power (B) Propellant
(C) Antiseptic M Anesthetic

@pLTev HssH Ffuy Hb-eury e ewssuuBsng. Cuogid Qg w@.g,g]w levmulled
Slenreumonm uwenuBmngy

A)  2Leng gHeoy Hoen (B) 2pg Qunmens
(C) Ao prélafluns (D) LwEs LEHHBETE
S0, acts as

(A) areducing agent (B) an oxidizing agent
w both reducing and oxidizing agent (D) neither reducing nor oxidizing agent

SO, erenug
(A) 9hHéEwL sy (B)  aysflgen g
(C) yafigen gnm - @HEEWD sryesf (D) @ranHCw Qame

SVEHFLD LilFemFdh@ FLOLD.
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Which one of the compounds 1s not a protonic acid?
(A) SO (OH), (B) SO, (OH),
W BOH, (D) Po (OH),

Gareumid Camosdle ergy LCTTiLmen bl ide?
(A) SO (OH), (B) SO, (OH),
(C) B(OH), (D) Po (OH),

According to Moseley's law the frequency of the spectral line in X-ray spectrum varies as
(A)_  Atomic number of the element

\M Square of the atomic number of the element
(C)  Square root of atomic — number of element
(D)  Fourth power of the atomic number of the element

Guomrevel —ullen eflfluLy s@awvrowda ofitaudrman’ Quimss X-sdisda smarow
ereueumy wrmUHEHDg? '

(A)  saflogden gy earamenan QUTmss

(B) saflngden e aramanfien G wLkms Qunmis)

€)  sallwsdlen g cramanilan auiss apagms Aunms)

(D)  saflwsdlen g arameanfien pren wLkiems Qurmss

Nuclear forces are _
\K)\ strongly attractive force
(B)  strongly repulsive force
(C)  attractive or repulsive depend on nucleans
(D) gravitational forces

DG elleng eTeLIF)
(A) ofls semelle FTEESH salg g
(B)  =fs serelle erfliiiy clane

©C)  gmssmgamar Quimsg miliy elasuirsCaur siwag aditiy elemswrsCeur Si@wwb
D)  yeuSiiy eflens

SVEHFLD LilFemFdh@ FLOLD.
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The main constituent of steel in India are

(A)  Niand Cu | ol Moand Cr
(C) Feand Cu (D) TiandCr

pwreiler 2_erer QmwiGen apsflu ppaiQuTmaT
A) Hasd whHmb smblyn (B) wmisels whmid @Crmslwibd

©) @by wppb smign (D) e Caflub wpmb GCrmslwn

The unit for equivalent conductivity is

(A) ohm'em™ ' (B) ohm'cm %eq”!
\(f ohm ‘cm?eq™ (D) Scm™eq’!
swnen s Hoafler @
(A) ohm'em™ (B) ohm™cmZeq”’
(C) ohm™emZq™ (D) SecmPeq™!
The Indian Salt Petre is
(A) Ammonium nitrate (NH,NO,) (B) Sodium nitrate (Na NO,)
\M Potassium nitrate (KNO,) (D) Calcium nitrate Ca (NO,),

BibHwen grer ST eranLgy
A) @wCorailwb ep Crl (NH,NO,) (B) GCamgquwwd ens_Cyl (NaNO,)

(© QuriLrflwb ep Cr (KNO,) (D) sroflwb ep_Cr Ca (NO,),

SVEHFLD LilFemFdh@ FLOLD.
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Which spectroscopy is used in chemical examination of interstellar space?

M Microwave Spectroscopy (B) Infrared (IR) Spectroscopy
(C) Raman Spectroscopy (D) NMR Spectroscopy

elarQeuafiulien Coudl ymiEélée e enawraauliud uwatuBEng
(A) mpeveTena S@wr@maUlLID
B) @ssflauiy (IR) @emewreaaufwe

(C) grmwen emawreamauiwue

D)  cigssm s1hHs @ssdTa; S@wTmOUdiLG

The time of reverberation of a hall can be decreased by

(A)  having a number of loud speakers M opening all windows and doors
(C) closing all windows and doors (D) speaking loudly

SO SI@PUId ahli (pgss Cprs@ss GOPULSHE

A) b aanaflismsuiier ol Qumsdlamer Lweu@BSEOMD
(B) craer peaand sseysamar Anbg meudss GCouemm(BHbd

(C) eraer gt ssaysmar aplg. mauss Geuar(Hid

(D) &sswns Cug Cauam(Bd

In vaccum all objects fall with
(A)  same acceleration and heavy bodies reach ground first

same acceleration and reach the ground at the same time -
(C)  different acceleration and reach the ground at different time
(D)  different acceleration and heavy bodies reach ground first

eréver AummersEnn Geupdle s el Curgy

(A)  phésd gCr semamsab, Ron BEHs Qurmlsd sarow sl sr@n
(B)  apBasn gCr syereunaad, eraon Qurmsenbd ¢Cr Crysdd saraw QgrHin
(C)  wphésd dadCaupraaw, GadaCaumy Crrsdo sgamreow GgrHw

(D)  Hssn daaCaprsaw, Baon BEps dunmsar apsadld garaw Agrdn

SVEHFLD LilFemFdh@ FLOLD.
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What is taking place actually during an ammonification?

\K proteins are broken into ammonium ions s
(B)  urea alone changed into ammonia
(C) ammonium ions are return to atmosphere

(D) ammonium ions are denatured -

@Puuns SupGurefl GCasagen pen_Aumb Cung ereen Hlapeysear panL Qumdlenmg?
A) yrsw wCworaflur sweflwrs 2 e dng

(B) whwr siwCurefluneuns wrmdlams

(O ewtoralur swellsgsasd i oreavifwiise Qewdng

(D)  ewCoreflwr swensar Qawalsdlmay

The important heat-trapping gas in the atmosphere is

(A) oxygen (B) nitrogen

(C) ammonia v carbon dioxide
auaflwar_ s Qautiugams Hlea Hmssd (pasdu eumy

(A)  ysedlgen (B) eomlgmen

©C) =wCoreflur (D) arue-aL-ysmav(d

The electromagnetic radiation are used in MRI instrument is

43

(A) X-rays (B) - microwaves
M radiowaves . (D) infra-red rays
MRI smeilsafier LwaTuBSsLLGRWD WO@TETHS HDOESET
A) X-zfiser (B) mew semesdr
(C) Crglwm seesar (D) <sis& ey sfiser
The reaction in wliich picric acid is formed from chlorobenzene is called as
(A)  Acylation M Nitration-
(C)  Sulphonation (D) Haloge'nation
@&CamCrnQuanfafialmng Gafls gllan surféen efananan : DD WP&ELLHEDE
(A) SsCGanmd (B) d);bl'_(‘;rmq;bmtb
(C) saCunGeanmmid - (D) anregnCammmn

SVEHFLD LilFemFdh@ FLOLD.
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Which of the following pair of elements different from the other?
Li-Mg (B) Na-K
(C) Ca-Mg (D) B-Al

Spasranyb Qaean saflwhisailds wrmulL Qmanr saflohsdr erameu?

(A) la-Mg (B) Na-K

(C) Ca-Mg (D) B-Al

The TV camera tube is a device which converts the optical image into

(A) magnetic signal (B) mechanical signal

(C)  acoustic signal \M electrical signal

e Asreest 8§l smdlgr Gemo aaug gafl Gbugms WIHMID SHESWTELD.
(A)  &Hs wsmasaTTS (B) Quss msmssens

C) o asmasems (D) Ben ewsemassenns

A metal-semiconductor junction diode is called

W Schottky diode (B) Photo diode
(C) Tunnel diode (D) P-N Junction diode
o 2-Cans GeaonsLs4 sbd e Cun® e (Hib.
(A) &srldl @ Cunr® (B) Cun CLr e Cuwnr®
(C) Lewe L Cun(® (D) P-N sp8l eo_Cur(®
Doppler broadening is proportional to , (T is the absolute temperature of the
source).
@Aa T ®) T¢

M JT (D) T3
et eflfley (T pavgdlen safl s Qauliuflena) fldgsHd Sienouwyb.
A T B) T?
© T o) T1°

SVEHFLD LilFemFdh@ FLOLD.
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In an elementary particles there are

x/ 4 (B)
(©)
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240 QUESTIONS (2013-2020)

(1]

3 (D) 2
SiglueL gsafle S LuenL ellenensar o crarer.
A 4 (B) 5
© 3 D) 2

An oxidising agent is a

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.

An electron acceptor

(B)  An electron donor
(C) In achemical reaction its ox1dat10n number increases
(D) It releases H2ina chemlcal reactlon
%a;a&g(ﬁsmm;ﬂ Grmugj
| (A) Grsoesuyrrmcsr s,r;pga;@a;rrm@m
(B) crews gremen g@w
(C) Ceaudelienemule &g@mL@ aéé',q&g@mg}g) eramr iglafl&@E0

' (D) Gﬁlmmuﬂld) H: - eweu Qeuafiu@®id

. Which of the followmg is the mmeral of magnesium?

. (/ Dolamite | T (B)  Kainite
(C) | Magnesite ' | : (D) .Magnet;ite .
Qusatslugdlen saflob wirg?-

(A) (:L;H'GJG&LDL"_ i - (B) S EBTL
(C) Gwé;mgm&u'.‘ | . | | | (D) (SLséaerm_z.'_

SVEHFLD LilFemFdh@ FLOLD.
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Stefan’s law states that the total heat energy radiated from a surface is directly
proportional to

(A)  1its absolute temperature

(B).  square of its absolute temperature ¥
(C) . cube of its absolute temperature 5 '
( fourth power of its absolute temperature

m)Ql_urrsr ssﬁmﬁsm AH9enuig, Gm uvuﬁlaﬂ@;ﬁ@ Geusrﬂequw Quonis Geuuu . OO -
~—————5 Cpir cdz58d Qmssid.

@A) sigen pafl Geutiu Hlevaw - (B)  @ugen gafl DeuLuBlencoudien @hiol. .
€). oipen safl Gmuuﬁms\)uﬁleﬁ epandlanog. (D) &gsﬁg,aﬂ Qeutiufleneoudien premdlamor

'The modulus of Elasticity is the Ratio between stress and strain. Among the two which is
the applied force externally

- (A) * Strain - - \M Stress

(C)  Both are external force (D) Both are not a force

514 Gematd Grsznuu@eug] gm&m5@m Hflus@o o grem aﬁlaﬁlgmn@m @Qw gl umaﬁ\u.:a)rras
Qar@®sstiul L elaswr@n? - .

@A gfly - | | (B) HEOEE] : '
(C) @rjmr@@m Lmewemer aﬂsm; ' (D) @rym@@m Aene @iwm
In a magnetic field, the direction of motion of a current carrying conductm is glven by
(A)  Maxwell's right hand rule (B) LenZ's rule )
M .' Fle.mirngs'. left hand rule o | (D)I Kircl"lpff' s law

R HTHSL LaosHd amaissiiug L L&G’ﬂ@}fLLLb Qubp sLG5 Qungme M@Lb gﬂea;)&mu_:é; Fapb 98

A)  GuscvQeiddian agies eI (B) Qodfe i

©  COefinden @ g hp | D) HissmiiGern O
During centnfugatlon which one of the following will settle down last
(A) . Chloroplast - M Ribosomes
(C) Mitochondria : - (D) Nucleus

>

Centrifugation Geiiub@uinpg) Spasan_cubile erencu senL_fwns settle.a;,& Falq LIF

(A)  @GemCymGamaiL (B) AGUICsmbaer
(C) . enw CLn smewr_flwn ' (D) Huselwev

SVEHFLD LilFemFdh@ FLOLD.
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The unit of spemﬁc resistance is

\(m Dhm cm o ' (B) -. Ohm-! em-
(C) Ohmem (D) Ohm-cm~
ﬂu.u.n Blengen_wilen g _ ,

(A) Obmem - .. -+ (B) Ohm-cm
© Ohmem~* -~ (D) Ohmem?

The aprotié solvent is _ | S
(A)  Hz0 (water) ' ~ (B) CeHs (Benzene) -

d HF (Hydrofluoric acid) - (D) NHs(Ammonia)

QGrJn_n;n_rrst STTE SENLILIMEH GTemg] —— .
(&) HO (§) - 1 (B) CeHs (Quenfen)
S (©) HF (mm._{:.;m@.ﬂem@m) ' (D) NH; (qs«lm(?nmrrﬁaﬂmrr]

What is the oxidation state of hydrogen in LiA1H:?

A, 1 : ; J s |

© o FLX T O -2

LiAlH: 6 2_éver enami_gimesfen 68 mGanb erair erenen?

@ 1. B) . -1

© o | | D -2
What are ‘cutlets’ which are used in glass industry? :
(A)  Colouring agent _ _ J Broken glasses
(C)  China Clay . +# (D) Na20.68i0:2

STl an@m&n@nwt&]m LweTU@D ‘s Cel. eramug erenen?
A) BHodsl . _ (B) caps asame‘mmq. Sleveyaar
(©)  esan sefioen .. (D) Na:0.6Si0 |

SVEHFLD LilFewFdH @ FLOLD.
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A circuit 'required to produce alternating current of desired frequency is

(A) Transformer & (B) Power supply
(©)  Amplifier | 7 Oscillator

wry Hens WlanGanrL_Gens @GHUEL L. Djeoa aenaor o G (Bg,mmuﬁ@d) &Hm
(A)  WBemwrm (B)  WBanCGaad
© BSarQumss : (D) e

Choose the correct option which differentiates a vector and a scalar
(A) Both are the same

\y Velocity will have both magnitude and direction. But speed does not have dnectlon
(C)  Velocity will have magnitude only But speed will have both magmtude and direction
(D): Both are not comparable

&Cyp Ge;n@a;suul_(amm aumd SILnisEmer ﬁme@m&g,mg,u.;m (Smag,mg,u.;m Caumu@sgd shwuren
aursSlwsens CoinhosHEaeyD :

(A)  Causgpd, HensCausapd aGn oy@EL _

B)  PosCassdpEe b Hosyb vHOGLOLEDL. D  CaussHnE Sens
wHdiu@eudleaena " '

('C) Hers CousgHln @ emay WLE 2_an@®. CausigHiE 2iaey, Hoswyd LHHALIURD

(D) Gasyb, HasGasupb @UIEIL WL WIS )

When a stationary bus starts to move, the. passengers experience a sudden backward push.
What is the reason behind it?.

(8) Inertia of Motion. \9( Inertia of Rest
(C) Potential Energy . (D) Kmetm Energy

Bleneowiren CLmbE! Qu.@qm @u.us;s;uu@m@un@ uu.:aurﬂa;m QanCennadl gereriu@Apniser. @ s
Glemenenflufich 2_arem g euld wWirg?

(A) Quss Hlepe 2 MO (B) @uey Heve 2 mipioid
(C) Fevawner 4 Hme | (D) @Qués nme .

SVEHFLD LilFemFdh@ FLOLD.
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Salinity is measured by
(A) Lactometer (B) Altimeter
W Electric salinity meter (D) Seismograph

asLe Bflem 2 ey arsemned jarssliubhlenms?
(A) &G mbS L . (B) ol
(C) erevsL Mg gadledf g LB i (D) FeaoComdlgm'

Match the following :

(a) Myopia T Bifocal lens

(b) Hyper Metropia 2. Cylindrical lens

(c) Presbyopia 3. Concave lens
(above 45 years of age)

(d) Astigmatism 4. Convex lens

() (b) (© (d)

A 4 3 1 2
W 3 4 1 2
CC 2 4 1 3
(n 1 2 "3 w3
QurpSss -
(a) ammmuunﬁmm 1. @umapsly eflédvency
(b) sarliuTTeney 2. o (mewer ellevenay
(¢) sarlunitenay 3. W abldame
- (45 awwgmsE Cuod)
(d) o @mifuleny 4. @il efldvena

Einstein got Nobel prize on which of the following works
(A) Mass-energy relation
(B)  Special theory of relativity

Photo electric equation

(D) Equation for stimulated emission
METe el SEHET aTHS payssts Crrue ufls QuporT
A)  Heon-2poé swerur®
(B) Aoy enmbGwed Camlumr(
(©C) qaflflenm swerum®
D) g iul L 2 Slipea) swestm(®H
SVEHFLD LilFemFdh@ FLOLD.
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The acidity of CH,, NH,, H,O and HF mclecules should be in the order :
(A) HF < H,O < NH,; < CH,
B) HF > NH; < H,O > CH,
(C) H,O < CH; < NH; < HF
M CH, < NH; < H,O < HF
CH,,NH;, H,O wpmnd HF = flw ppassmmsafien siflasge aiflas :
(A) HF < H,0 < NH, < CH, '
(B) HF > NH,; < H,O > CH,
©) H,O < CH, < NH; < HF
(D) CH, < NH; < H,O0 < HF

Which of the following chemicals can be used as Rodenticides?
(i) Zinc phosphide
(ii) Sodium fluoro acetate
(iii) Thallium sulphate
(iv) Dithio carbamate
(A) (1) and (1) only (B) (i) and (1v) only
M (1), (i) and (111) only (D) (i), (i1) and (iv) only
Genau(md CauBUQunsrsafld sraneu@uicamd eredl Qaraellwims Liwenu Bang?
(1)  sssBHE LT
(il) Gamgquib OEsGor oG
(iii) smellunb sGLILC
(iv) eoLgCumrsriuCl
(A) () womd (i1) LB (B) (i) wpmd (iv) wl @b
(€) (@), (i) wpHmyd (1ii) w [Hib (D) @), (i) wpmywd (iv) LLHID
For the radiation from the sun A4, =4.8x10°m and Wien displacement constant

b = 0.289 x 102 m Kelvin. The temperature of the sun is

(A) 512 Kelvin B~ 602 Kelvin
(C) 702 Kelvin (D) 812 Kelvin

Glualldmps amb sdHictefing 4, =4.8x10°m " whpmge eAwen @ruQuuwie)  wrHel
b = 0.289 x 107* m Qsoefer crempmpsmed @flwueafler Qeutiu Hlae

(A) 512 Qacedes © (B) 602 Qadeflan

(©) - 702 Qadoflen ' (D) 812 Qadetar

SVEHFLD LilFemFdh@ FLOLD.
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- In order to deposit two metals simultaneously at a cathode, it is necessary that the two have
(A) the different deposition potentials
W the same deposition potentials
(C)  zero potential
(D) lowest potential
@ram(® 2 Cananisanar Gy Crradla adideaaumia efipuige AeliasnE Grampid
(A) CampulL uge Wen Sisshiseeans Qerawy més Ceudm (Hb
(B)  swwrer uige| et issRIEmaE Garay (hés Cauar({Hib
©) yndu b Swsssmss Qareamy més Caamm@Hin
D)  Hesgophs W ipsstismers Qamarg (héas Gouam B

Chemical name of aspirin is

(A)  Ethyl salicylic acid
- (B) Benzoyl salicylic acid

(C)  Methyl salicylate
y Acetyl salicylic acid

sevflen wmpHen Coudlls Quwim

A)  agdo snellélalls subleid

B) Quenemds sl ledls S .
(©) QusHé srallflGal

(D) 8l srellfleds oidled

The relationship among the specific conductance, resistance and the area of cross-section of
an electrical conductor is

#) R=KA .MK:%x% .

(C©) RA=K - (D). R=-K/A

Puw BersL 58 Sper, WengenL whmb WensL sHudlen GDEGL uriuerey yflweupBlen. Gu o erer
Qgm_iry

-

B Sana
(A) R=KA B) K e
(C0 RA=K . D) R=K/A

SVEHFLD LilFemFdh@ FLOLD.
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Davisson and Germer experiment relates to ,
(A) " Interference : M Electron diffraction

(C) Polarisation (D) Flourescence

CLeflzen Qo Cargenar Spésam_cudmIeT eraaL e QgL eTers
(A GEnsE D edeneray (B) cres_gren eflafliby eflenarey
(C) serlawerey D) egefize

The solar constant at earth’s surface is

(A) 1.4 watt/m? (B) 14 watt/m?2
(C) 140 watt/m? A 7 1400 watt/m?
wSluden Gupuriible @flw wrhlelludlen iy 2GLD.
(A) 1.4 watt/m? ' (B) 14 watt/m?
(C) 140 watt/m? (D) 1400 watt/m?

Maximum Yield of Ammonia in Haber’s Process

.

g 97% | (B) 67%

©) 47% M 37%

Canuit apenmude bGuraflur swrfissadld oidls ul s eflameardsd
(A) 97% > (B) 67%
©) 47% D) 37%

Which of the following is called as Carborundum?

(A) Boron carbide
Tungsten carbide

\V Silicon carbide

Aluminium carbide

xS\éna.n@ma_rmfpgudr org STIGUITTEITL LD eTa Hemp&sUILHEDE?
. (A) Cuimpmes srirenL(®
(B) LiievL_en &rrenc(®
© Sdssan smirenu(®
D) gdalub srieu®
SVEHFLD LilFewFdH @ FLOLD.
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Producer gas is a mixture of

MCO+N2 (B) CO+H,

*(C) CH,+CO | D) €O, +H,
2 HUSH eumy eremugy FHOMEUWIMGLD.
@A) CO+N, B) CO+H,
(C). CH,+CO D) CO,+H,

In a transistor, if the value of @ is 0.9 then what is the value of £ ?

.y/ 9 (B) 90
©)

0.9 (D) 900

@ gyrendleav M, a -an wHiy 0.9 erampred B -am wHy eremen?

A 9 (B) 90
(C) 09 (D) 900
The spectrum produced by a substance in molecular state is known as
(A) line spectrum ' (B) continuous spectrum
w band spectrum (D) line and continuous spectra

pessan Hoelgidrar urnmseidmpg AupuuGL Hnwree QaeunEd.
(4) af fimworew (B) Qami fimwrere
(C) ulen flipwrena D) el b Qg Hpwrewsd

SVEHFLD LilFemFdh@ FLOLD.
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Which of the followings are identified as isobars?

G eAr® Gi) ,,CI*

(iii)  ,,Ca™ Gv) ,,CI*
& () and (ii) @B) (i) and Gv)

(C) (i) and (iv) (D) (@) and (1)

EpsraTuauDmieT eTeneu REHTUNMNMSET TEILINS BN WINETLD STERTS?

(69) 18 Ar*® Gi) ,,CP*®

(ii1) ,.,Ca‘°' : Gv) ,CI7

(A) () wpgpo (ii) (B) (1) wpmd (iv)

(©) (i) wpgd (iv) D) @) whmod (1)

The isomerism exist in 2-methyl —2-propanol and 2-butanol

(A) Position isomerism M Chain 1somerism
(C) Functional isomerism (D) Metamerism

2-0195&6)-2;chnﬂumnd: wHmid 2-19wC L enmelled 2 drer wrHiilwibd

(A) @I_ omHbluid (B) smdd Qsmii wrhiiuib
(C) ofSewens QAznrEdH wrHHww - (D) @Eeenorpdlun

Which rule is used for the order of filling of orbitals?

(A) Hunds rule W (n+1) rule

(C) (n = 1) rule (D) (2n +1) rule

Spararusupmer areusildl Ml Lrdseamar Byl senenwéE uwanuBSsUUBSDng?
A) afar 04 (B) (n+l) 08
© (n-1) H8 D) (2n +1) 5F

The compound which is used to produce smoké scregen 1s
(A)  HPO, /PH?,

©) PCl, (D) P,0,4
Sp&sa_cupmer LanssHleorenu 2 e m&sy Lweu®ib Gamon
(A) HPO, (B) PH,
(C) PCl, : (D) P,O,

SVEHFLD LilFemFdh@ FLOLD.
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Which one of the following compound undergoes Cannizzaro reaction?

W Benzaldehyde

(B) Acetone
(C)  Acetaldehyde
(D) Both (B) and (C)

Geneumid Gamomsaile ag senaflanGyn sllenans@ 2L LBGD?
(A) Quensréigenan®

(B) Sf CGLmen

(C) =Sl magman®

(D)  (B) wpgd (C)

The unit of magnetic flux,

(A) ohm . (B) volt

(C) tesla % weber
STHSULIMUSS 6T S0 @,

(A) LD (B) Geuménil_
(C) Qrever _ (D) Qeuuir

Sound waves do not show the phenomenon of
(A) refraction

(B) interference
(C) diffraction

polarisation

@ sanaseTTe srerT9ss Buinsene eraneu?
A) eflevsmed

B)  cossese

(C) eflefliby eflanaray

(D) HET eﬁlénmm

If a lift is going up with acceleration, the apparent weight of a body is
(A) more or less the true weight
B) equal to the true weight
©) less than the true weight
W more than the true weight

Blem 2 wiTES), G Crradd wpastiuub Gungy maﬂgaﬂér Caenhm erenL
(A) 2_amenip eTenL_enwl 6l fED Divag GHODay
(B) 2_GRTENLD GTEDL_&(& FLoLh
(®) o _GRTentd eTenL_awl el FGennay
(D) o_aGRTentn cTent_emit 6l .aq@a_stb
SVEHFLD LilFemFdh@ FLOLD.

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.



56
ARAM TNPSC 2.0

TNPSC PREVIOUS YEAR PHYSICS & CHEMISTRY
240 QUESTIONS (2013-2020)

Which one of the following gives anizole on heating?
(A) Cg H,ONa + CH,OH

(B) C.H.OH + CH,CI

u( C,H.ONa + CH,I

(D)  C.H.I+CH,0ONa

Wereumeuaneupmer argenen Geauiutu@sHenta safllGana fen&@EW0?
(A) ~ C,H,ONa + CH,0H '
(B) C,H,OH + CH,C]

(C) CzH,ONa + CHg4l

(D) CzH,I+ CH,ONa

Which one of the following is a powerful reducing agent?

W Hro, (D)  H,PO,

Spssenr_ecupmien arg Sphs @OEGEWD srewil?
A) PO, (B) P,0;
(C) H4PO, (D) H4PO,

Four resistors of resistance R each are connected in parallel. The effective resistance is

4
4R (B) R

(&)
R
.4 . D) 2R

@aQaranpyd R Wdagomiawu o w prag dasawrsdean uss @eeamille e drarar
@eueuanwnSen GgmEuwen WenseL

(A) 4R ' (B)

= |-

(©

-

(D) 2R

SVEHFLD LilFemFdh@ FLOLD.

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.



ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR PHYSICS & CHEMISTRY
240 QUESTIONS (2013-2020)

Glycerol + oxalic acid —2X ,X X —is
(A) Formic acid

(B) Acrolein

y Allyl alcohol

(D) Glycerol triacetate

Aaflagne + gysevrells sufion — 28, X, X —eranug
(A)  unmmds sblew -

B) =&Crmellen

€) v osapTd

(D) Aaflsgre Ceopill G .

A spherical ball is allowed to fall in a highly viscous liquid. Viscous force on the spherical
ball does not depend on

(A)  Coefficient of viscosity

(B)  Radius of the sphere

(C) Velocity of the sphere .
M Mass of the sphere

Garer G () @an s unghow Qarar. FrosdanGL SpCorsd pamb Cung, Carear Geargen
B& Qewnu@b un@hlene ellans cTgenan sNTHES DD,

(A) undlwe erewr

(B) Gsrergdlen pyid

(C) Ganers Qurpafien HanaCGeusid

(D) Garerd Qugmefien Hlenm

Prigary waste water treatment removes how many percentage of suspended solids?

50-65% (B) 45-55%
(C) 30-40% - (D) 90-95%

wpsofoa sfabi ssHafliy epob assmar sgeisn dsasflasdr Wssgn HLuurmisdr
pasuumSlarmen?

(A) 50-65% (B) 45-55%
(C) 30-40% (D) 90-95%
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A molecular orbital can accommodate only two electrons and these two electrons must have

opposite spins. This principle is known as
(A)  Aufbau principle

(B) Hund's rule

(C)  Heisenberg principle

d Pauli’s exclusion principle

QM wosamny PTACLrdled @ran® aeslgransmer wWLHDL Hruu ugid. Hs Qe
TesLrTens@hn erHQrdliT spnilenws 2 amLwme. Q&s55 LD

(A)  @peur gz

(B) apvaw’ ahi4)

(€) Qanwiseruis Camur®

(D)  urddluier selliTsams gggaub'

Which element is toxic among Boron family?
(A) B -—Boron

(B) Ga - Gallium

W7 TI- Thallium

(D) In-Indium

(Bummén GHLUSH® 618 GD HEGS SO 2N UIF)"?
(A) B - Gumymen
(B) Ga-srellww
A(C) Tl - sreSlwid

D) In- @ewmgwid
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Match the following instruments with their energy conversion.

(a)
(b)
(c)
(d)

A)

”~

(D)

N
(@)

Heat engine [ 1S Light energy into Electrical Energy
Photo electric cell 2 Electrical energy into sound energy
Microphone 3. Heat energy into kinetic energy
Loud speaker 4 Sound energy into electrical energy
(a) (b) (©) (d)

1 3 4 2

3 1 4 2

4 2 3 1

2 4 1 3

Epaar smellsafie hmed WIHDHns UGB s.

(a) Qeuhu er@pdlen 5 L aafl oo WlenenTmmans
(b) eafl Bensaen 2. WlenemrmHmed ¢pedl <4,MHME TS
(c) enwsCrmGuimes 3. Qeutiu HMe, QUISS H,HDOTS
(d) dNAumsH 4. @8 yHmed enenThHmens
Three beaker 2 ml, 5 ml, 10 ml capacities are havmg liquid at same temperature. Heat
energy is
(A) Equalin all the beakers
W 2 ml beaker has lowest heat energy
(C) 5 ml beaker has lowest heat energy
(D) 10 ml beaker has lowest heat energy

2 ml, 5 ml, 10 ml Qanérararayeren epem Gsnm&wm&aﬁw eCr Qauliuflenaulenr o_drer Hyeuriser
emeuasUILL Hererar. Qeuliu BHmereng

(A)
(B)
©
(D)

DiemengEQID FID

2 ml Gsnearseweafler Gapey
5 ml Qanasaaiia Goney
10 ml Qsrarseaila Ganey

Passing vapours of Ethyl alcohol over heated Alumina, gives

(A)

(©)
D)

Acetaldehyde
Di ethyl ether
Acetic acid
Acetone

Geuuulu@ssuiu L sigilenT Bg) g eg:,c\)asgmnsﬁlm eflenw Qeg)senme, o ewrL_meug)

(A)
(B)
©)
. (D)

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.
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S.I. unit for magnetic induction is

(A) NmA (B) Nm'A™?

(© Nm?A 7 NA'm’

&Mhs gL isarer S.1. DG

(A) NmA A (B Nm A2
(C) Nm™A (D) NA'm™!
I. The dimension of angular velocity is 7!

1L The unit of angular velocity is rads™

Comment about the above statements
(A) - Iistrue but II is false
(B) IIis true but I is false

W Both I and II are true

(D) Both I and II are false

I Gsrew HwsGeassdler ufwner euriiun®: 7!

II.  Gsrew densGeussdlen i@ : rads™

Cuopsa@t spmEsmar upBl 69oiféseb

A) 1 Quu e [T Qumi s possarmEid

B) 11 Qi yamméd [ Quimis sappdsam@Ld

©) I womb Il gdw Qrar@iid Gl &Q)Qjéa;mrf@m
D) T wogwll du @rar@Gib Gumi spmsseTmED
Which compound is used as smoke screen?

(A) PCls (B) PCls
" PH: (D) HsPOs

yenssdlenmuiler uweru@BssiuBw Camoid erg)?
(A) PCls (B) PCls
(C) PHs (D) HsPOs
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Which one of the following cell is feasible?

(A) CuICuz‘“H‘,Hz (Pt) B) (PH,,H'|Zn* |Zn

Zn®|Zn J ZnfZn* [Cu®|Cu

© Culcﬁz*

Geneumeuaneupmer senaflFanswns eflenen flab Wensaibd erg?

(A) culcu2+

H*,H, (Pt) (B) (Pt)H, H*

Zn** |Zn
|

(©) culcu2+|zn2‘ Zn

(D) Zn|Zn2* ICuz* ICu

R-C coupling is used for

Voltage amplification (B) . Power amplification

(C)  Current amplification (D) = Direct amplification

R-C QevemrnSen Lwamun(p
(A)  Demanpss QU@é,asLb (B) <=pme Quimssid
(C)  Nergn L Qumssid (D)  Coir QumssD

The science of time measurement or clock making is
(A) Astrology
Chronology

M Horology

(D) Hymnology

Gr,srxg,ang ST HED g Hig&my suq.susnwg,scu um@m <Mlefluic eremug)
(A) @ rreg |

(B)  &GyrCanmersd)

(C) anmpreg

(D)  ablbeamag)

SVEHFLD LilFemFdh@ FLOLD.
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Plasma is a cloud of
(A) o —particle
(B) Neutrino

W Completely ionized matter
(D) Uncharged particles

GISTTEILOIT GTEBTLIG) 6T SEHT G TEnId;) ?
(A) peoun gisarsar
B) Ay NGern
(©) WPpeugid siwefl Hleneuller. o drer gsearser
(D) WleTHENOWIND &i&HETSHET |
The higher fatty acid in oil is

(A) benzoic acid

P’ palmitic acid

©) crotonic acid

(D) acetic acid

cramr@amrudied o arer 2w QampLiy adS\smB.
(A) Quengmudls yblewd
(B) umeLBlig & jusleotd
©) @&CrmLraflé 2bled
D) Sfgs ben
Which o‘f the following is an acidic salt?

(A)  Na,SO, s/ NaHSO,

(C) Na,SO, D) K,S0,

WemeumeuaneudmeT arg) Sibleggenenio eumubhs 2-UL?
(A) Na,SO, (B) NaHSO,
(C) Na,SOq | (D) K,SO,

SVEHFLD LilFemFdh@ FLOLD.
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Which of the following gas was the remon for the Bhopal tragedy?

A CFC (B) CO

(C) CO: o MIC
GemeuheuaaupBler Cumruimed sy Hlapeyse@ STrTLOTE QUITU] 6TE?
(A) CFC -~ (B) Co

C©) CO: (D) MIC

In a reactor the moderator is _
(A) Uranium 234 (B) Uranium 238
(©) Cadmium w Heavy water

DIESH(H 2 NS TG SewTlLILITe?
A)  wGrefluib 234 B) wyCreflub 238
(C) Sl tBlwd : (D) swer B

The ore of mercury is

(A) Garnierite - - (B) Chalcocite
(C) Sperrylite W Cinnabar
unggssdlen Hrg)

(A) srreflengl (B) sraCasreaai
(C) ewQurflenevi D) Aenemumm

Fuel that is used 1n Jet air craft and stove
(A) Petrol
(B) . Petroleum gas

% Kerosene

(D) Diesel

evLeu wHmb AmL g eflwrarsdde vwenu®S5ID erflAur@mer
(A) QulGhme

(B) Qu_CrmreSlws erfleumuy

(C) Y= (AP = (AP i

(D) 18560
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- In which of the following minerals, Aluminium is not present?
(A) Cryolite (B) Mica
(C)  Feldspar : M Fluorspar

Qemeumid saflwhsais sgifalun Goanss 6g?
(A) SAACwumenaL_ (B) enwsr
(C) Quevl_evum D) yGerrievum

Oxidation number of sulphur in sulphuric acid is .

%+6

B) -6
(C) +5
D) -5

&5H&s UBwsHe shsssHen yseilnGanhm erewr
(A) +6 (B) -6
€ +5 D) -5

The phenomenon of transfer of heat without any material medium is known as

M Radiation

(B)  Convection
(®) ' Conduction
(D) None of these

umLGummeT ear_gb gienarTullend) Geuliub wrHpULBD Hapey
(A)  sdielés

(B) Qeuliuseend

©) Qeauius sLgge

(D) Cupsear egeyaame

SVEHFLD LilFemFdh@ FLOLD.
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Thermistor is a

(A)

Material with positive Thomson effect

% Material with a negative temperature co-efficient

(©)
(D)

Material with a positive temperature co-efficient

Material with negative Thomson effect

Qgmblevi i eremug,

(A)
(B)
(©)
(D)

Cwit gmbaen ellenerey Glamemr._g)
adlis@H WergemL Qeuliuflene eraar Qamar_g)
Coragd Wearsen Qeuliublene erawr Qararrg)

erdlit smbaer eSleneney Garewr_g)

Select the correct statement with respect to d-block elements

(A)
(B)
(©)

7

They are all metals
They show variable valency
They form coloured ions and complex salts

All above statement are correct

d-Qsradl saflwhismen Quryss sfluner mpnareaws CoibosEH

(A)
(B)
(©)

D)

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.

DM Jmangid o Cansmser
s Gaugul L @evanflnansemars Qameaw (Heararen
e flpaperer Swellsmarud, sienawreys Gsﬁmr&nam&ru.ub 2 (meuné@dlenper

Cunedu Semansgb sfluraransu
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Which of the following is most abundant in earth’s crust?
(A) C. Carbon

% Si. Silicon

() Ge. Germonium

G
(§8)) Sn. Tin

GlemeuheueneummIET 6rg Lelludicr oiflswnns e R mg?
A) C. st

(B) Si. feSlmevr

) Ge. Qgginuorailunb

(D) Sn. 1g.eb

In SI system of units, the unit of solid angle
A) Radian

M Steradian

©) Degree

(D) Celcius

SI =@ pepuia, Sarns Cararsder B0 &
(A) Criguiesr

B) vy Crgwen

© sAaf

@ ) Qaflwien
Fraunhofer’'s lines of the solar system are examples of
(A) Band emission spectrum
(B) Line emission spectrum

(C) Continuous emission spectrum
Line absorption spectrum

&fNw Bipwrenaulier o drar LgnenGanuT CarHsaT TEHH @ 2 STyeasTin?
A) vl e 2 Wlipey Blmwrene
(B) Gar® 2 ey Amiomene
(C) Qi Blipey Himwrene
D) Car® 2 emafiriy Hpwrene
SVEHFLD LilFemFdh@ FLOLD.
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The approximate chemical composition of Duralumin is
(A) Al=94.5%, Mg = 5.5%
(B) Al=95%, Cu=4%,Ni=1%
(C) Al=93%, Cu=4%, Ni=2%, Mg=1%
Al = 95%, Cu = 4%, Mg = 0.5%, Mn = 0.5%

g rrllafler Camymwworer Goud @enwiy

(A) Al=94.5%, Mg = 5.5%

(B) Al=95%, Cu=4%, Ni=1%

(C) Al=93%, Cu=4%, Ni=2%, Mg=1%

(D) Al=95%, Cu=4%, Mg =0.5%, Mn = 0.5%

The electromotive force of a Daniel cell is

(A) 186V (B) 1.20V

(C) 156V ‘p) 1.10V

CLeaflwe Wearsasdar Wanaflugs ellens iy
(A) 186V (B) 120V

(C) 156V (D) 1.10V
An achromatic lens produces

{A) Coloured image

{B) | Enlarged mage

(C) Black and white image
x Unaffec?:ad clear image

By nSppsd Baduw ammm'@sn@s@m LS
(A)  uwe Bloduc Gbub

B eowsde duiu Goub

(C)  smuy-Ceusreer Hlpid Fbub

Dy Qgefieurar Gibud
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The time period of oscillation of a simple pendulum depends on
(A) . Mass of the bob

(B) Material of the bob
Length of the pendulum
(D) amphtude of the pendulum

gl eamsadlen Bj@ea) GHIWD FTiBEHHUILS
(A)  @emgen fenp
B) Ga® Qediutu L @un@miﬂu @urrg;ugg
(C) ) eersellen fFBemb '
(D) omsdlan igs
Coulomb’s law is given by F=kq, g,r" where 'n' is equal to
-2 - - B 2
© -uvz. D) 12

sagmid (Coulomb)-én e9fuler 'n' aflen s eraran? F=kgq, g, r"

Fl

@ -2 T B 2
© -1/2 D) 12

The mean distance of the sun from the earth is known as

A Astronomical unit

(B) Amstrong unit
(C) Mach unit

(D) Fermi

GNwugsE L yells@d @ Cw 2 drer gymaifl Qgsrr@a)sq GreURUTMI DI PSSLILIHE mEI?
Q)  anaflwd v0E

(B) ywevlgni o

©) v

D) SQumd

SVEHFLD LilFewFdH @ FLOLD.
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Which of the following electrolytic solutions has the least specific conductance

(A) 002N
(B) 02N
(C) 20N

M 0002N

Spsaas_ ahg smygadlewr Specific conductance Ge@meuns @ (HEHELD

If the power of a lens is +5D, then its focal length is

(A) +02cm (B) —0.2cm
+ 20 em (D) —20cm

@ eSleveneullen Smen +5D, isen @Gedlw e eremen?
Currently, the noise reduction circuit sed in sound systems is mentioned as
(A)  Stereo ' o Dolby '

(C) Hi-Res Audio .. _- (D) Echo

snQureps el ammuq&sﬁiw umeﬂu@gguu@m &g’,gw @epmiiy &g}y @sueunm
@@EEUUL{BWWQ

(A dvefCur L ® el
(C) . evam—Glyed <yig Gur D) eéCan
If the focal length of a concave lens is 2 m, then the power of the lens is
(A) 2 dioptre
(R) 1 dioptre

(O 0.'5 dioptre

M — 0.5 dioptre

2 5 geflwsg Aegreveea) 2 e w Gl Gwean e Slmenr
(A) 2evwmdLr

B) 1o wmii

{(C) OSemiwmiim

(D) -—05es wmiLm
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The first battery was made by

(A) Joule (B) George Simon ohm
w Alessandro Volta (D) Newton

WPae Blasasams o (Heursdiieuir

(A) gra (B) gy evsiner Id

(C) . SiQassmenn_Gym CeumeL_m D) Hlygen

A man has to exert a force of 10 N at the edge of a door to push it open. How much,
force will the man have to exert if he pushes the centre of the door?

(A) 10N B) 5N
(©) 15N ' W7 20N

M BUT @M ssde g peande (esibguie) 10 N were) ddasaw Qegisd
Slmuun, eaile SiGs ssaneu e enwu UGSHWle Qmbg $inss GeanauliLBib allansuller
&l ereman?

(A) 10N J B) 5N
(C) 15N - ; (D) 20N

Focal length of a convex mirror whose radius of curvature 40 cm is

M 20 cm (B) 40 ecm
(C) 80cm (D) infinity

40 Q&b sumeney b 2 enLw Gewimg gpeandlen Galwus Qgnrenaay

(A) 20Qs.8 (B) 40 Gs.8

(C) 80 Q@s..6 D) apyefladl

Reluctance is measured 1n

(A) Ampere — Weber J Ampere — Turn / Weber
(C) Ampere / Weber (D) Weber / Ampere

Bleag s G)genme iaredlemd :
(A) <9 — Qeur (B) =polwr- &pm/ Qeuuir
(C) <wQuir/ Qeuu (D) Qeuuir/ 1w

EHED LFensds @ Fiotb.
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Which of the following pairs does not represent quantities of identical dimensions?
(A) Angular momentum and Plank's constant
Moment of inertia and moment of force

(C) Work and Torque

(D) Impulse and Momentum

&G Qan@asuu_Herereundled §a8 uflwrerr auriilum el & Qararmggns Geamyg. 6rg)?
(A) Csrewr 2. psb wHHID Germmié wrled

B)  Heoew Huuysdpea wppw elmsdear Hnuussper

(C) Caueven Hmid &(Hijelans

(D) sawgaré@eians LHMW 2 HEWD i

“What does pluviometer Gauge measured?

(AY Density - (B) Heat
(©)  Plot’ )] Rain
HERelGumb LT erganat serda0 LuaURADE?

(A) =LisH (B) Qelun
€) e - D) way

Bolometer is used to measure .
(A} Coefficient of thermal conductivity (B thermo emf

(C}y Specific heat capacity - heat radiation
CumGer BLLard vwatuBEs Blsener amﬁLm .

(A) Qenius s_gzs Soen - B} Qaninfldrefluism oflang
(C) perQauliu gpysper (D) Qeulius sflieiss

A doctor prescribes spectacles to a patient with a combination of a ml;vex lens of
focal length 40 c¢m, and concave lens of foeal length 25 cm, then the power of
spectacles will be '

(A -65D - . (B 15D
J -0 (D) -85D

R S LBsHT Crmured 9@“’(&5@ 40 Qs.8 @eflug AsraaedsT Geldademayn
25 Qo8 Geblws Qsrowcdea GGledmsuh Bomss (PG ﬁmmrrq_ SieRtiu
ufipgiepsdpn. Sihs npée sy ulcy Hma actes?
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A metal wire of resistance 5Q was connected to a battery of 10V. Then the current
through the wire and the power spent on the wire are

(A) 05A5W M 204.20W

(C) 5A05W | D) 20A4,20W

5O fdigen. Qanem_ o Conss sp@Qurany 10V Saelluss dies  Qsmer
ensawggL.an GoamssiuT faeng i, sl umnyd BaGami b wimb sodudew
Gswaufissiul L Spew )

(A) 054,5W (B) 2.0A,20W

(C) 5A05W | " (D), 20A,20W

The most stable nucleus is
&) He* : o Fe™

(C) o UZSS . (D) o Hgl‘JB

2fls Hewssanenn QarearL ignésm

Which of the following is correct:

(i) Force= massx velocity

(i1) Acceleration = velocity/time

(111) Work = Force x displacement

Gv) Power =Work / time

A) (i), (i) and (iii) (B) ), (iii) and (iv)
M (ii), (iii) and (iv) (D) (), (1) and Gv)

& apaaapiia saa sf :

(i) cflene = fang x HansGausid

(i) @pBssD - SwsCaisb/stebd

(i) Cama - Gas x G UALWLITSE

av) Hlmen = Gouena/smand

A) @), (i) wpgod (i) (B) (D, (i) whgd (iv)
(©  Gi), (GiD) wHoo (1v) (D) @), (1) wpmd Gv)

SVEHFLD LilFewFdH @ FLOLD.
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The unit of specific conductance is

(4)  Ohin~‘em’equt™ - ) Ohm ‘emPmol”
(C) Ohmem® . o su{ Ohmlem™!
;ﬂlumaa sL_gg5 floaflsr e,

The resistance of a metallic wire is 1 ohm. The wire is stretched to double its length. Now,

the resistance of the wire is

(A)

V..

©
(D)

X ohm
4

4 ohm
2 ohm
8 ohm

Hlenger 1 @b Qsran em 2-Corss swld Ap@&ssuu’_( isen harb G wLkisrssuu@ang!.

BuQurpg issbGlulen Wensen

A)

B)
©
(D)

i
3 2
4 e
2 @

8 eib.

The time of reverberation can be decreased by

(A)
(B)

v 1

(D)

Choosing a larger hall
Having a number of loud speakers

Opening all the windows and doors

Speaking aloud

er Sl ppss Crrsbens Spasasr_eundla agdr apLD &HNDESHETLD?

A)
B)
©
(D)

Quflu riissans CoirnQs@H EsMD

2Hs senellerer epadl@UmHESEMET HeNESTD
DD HE) FEOIBTVEET LDHMILD S50 ST HMbHF SiLemb
#5501 CuETD
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If the voltage gain of an amplifier without feedback is 20 and with negative voltage
feedback it is 12, then the feed back fraction is

(A) 5/3 (B) 3/5
© 15 oWB.033

Wergn' L flder g Qu@sSHle Weaapss Qumss eadr 20 adli Blargmn Lib Qar(ésiurL
Blen oigen Benan(pss AUbhES era 12 aaflé Wenayr L Gener gl snams

A) 573 ; By 3/5

(€ 15 (D) 0.033

The neutrino has -

(A) Negative charge and half spin
(B)¢Zero charge and half spin

(&) Posiﬁve charge and integer spin

(D)  Zero charge and integer spin

Bl AGenm Quddlmrug

(A)  adir Bergn Lib OO 2ienT HEPHE

B) & Vg Lib wHpib S SHEpHS

(©) Gpi San@riLb wHmb W sHspHé

D)  sif Bangt L wimd (p DA

Select the effect which is related to superconductivity from the following
(A)  See back effect

(B)  dJoule-Thomson effect

(C) Stark effect

(DMMeissner effect

Epsanamuapme s gsGan®H Ay w eflamarmeus CaibOs50
(A)  $Qus elenarey

(B) gré-gmbsen aleneray

(C)  Stark eSenarey

(D.) Quwevent eflenarey
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Oxygen molecule is 16 times as heavy as a hydrogen molecule. The temperature of oxygen.

when its average speed is equal to that of hydrogen at 30 K is
A) 300K | BM180 K
(C) 120K (D) 100K

Fallge Wasan @B @epijge pesmapoar Gurw 16 wLkie saoreg. 30 K
Caiuflmauie manygefiear syrefl Cassas Cuream Caussms Qup sallnass euaea
Qeautiuflenad Geuaisr(HLd

(A) 300 Qaéveller (B) 480 Qs@welen
(C) 120 Qseellan (D) 100 Qsaeflen

Sound travel in air in the form of

(A) atransverse wave

(BW a longitudinal wave

(C)  both as longitudinal and tranaverae wave

(D)  none of the above

ampiied 68 SIREET LTaSH eUGRID

(A)  @upssmass ’

(B) GplLeesdr |

(C) QplL_oaasd vinbd @nssmSET

@) Copsan opb Poma - | |

A projectile is fired at an angle to the vertical with a small velocity. Its horizontal range will
be maximum when the angle to the vertical is :

Ay 120° B) 90° .
G " D) 80° |

oL, Catamgfe Ganps SmeCausidle aMEunmer Qshigggts Gud Cpréd adluiuGHpg.
dlenL gor dbss Aumuwns Gmss adlu Couang us Canewnd erevar?

(A 120° B) 90

0 450 (D) 30°
Which of the following is the non-sinusoidal oscillator?
(A) LC Oscillator (B) RC Oscillator
(C) Crystal Oscillator 2 (0 Multivibrator

| Epsam_apde ag @sa aigupn Se@ubi?
(A) LC saaluph (B) RC siamaublwuph
(©) uys s@ouBwhh (D) uvdadie
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1 amu is equivalent to

(A) 1eV (B) 931eV
(©) 931 KeV @r 931 MeV

1 amu erenmug) B)&n @& swwreang,

(A) 1eV (B) 931eV
(C) 931 KeV (D) 931 MeV
The maximum efficiency of a half wave rectifier is

(A 81.2% B) 41.6%

yf 40.6% M) 42.6%

(M SianT sema FmsHullen siflaul L Lwgym Spermang,
(A 81.2% : (B) 41.6%
(C)  40.6% (D) 42.6%

Holography can be used in the formation of

M three dimensional images

(B) two dimensional images
(C)  one dimensional images

(D)  half dimensional images

CamnCGondlyml @geme 2 (haunds Lwearu (HEang
(A) guuflwrasr H,lburéjaaair
(B) @@ uflwrewr Slbukisar
©)  emuilwresr &Lbutéj&sﬁ

(D)  @iewy uflwrerr Ybukisar
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The phenomenon of transfer of heat without any materlal medium is known as

M Radlatlon

(B) Convection
©
D)

Conduction

None of these

U@LEPummeT ean_aid gienanmudlarm Geuiub wrHnULIGD Hape]

A)  sfreles

(B) | GleuiLgeventd

(©)  Gaudus s_gs56

D)  Guopse ergeflademea

In SI system of units, the unit of solid angle

SI @ papuia, Harns Carearsdear Si0E
A)  Crgwer
B) avgCrigwen
©) waf
D) Qsodlwen
R~C coupling is used for
Voltage amplification

(C)  Current amplification (D)
R-C Qlenemr i Qe Liwarmm(ip

(A)  Slemanpss 'Qu@éaea:_h (B)
(C)  Blerggr’ L Qupésid (D)
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(B) .

Power amplification

Direct amplification

2 HMmed GumEsLD
Grir Qu@é&fﬁm
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. - r . 1
The science of time measurement or clock making is

(A) Astrology
(B)  Chronology

W Horology

(D) H}f];ﬂﬁ[)]t)g}f

@E_HEGD;E 2fenefi HFD HADOG FHTT GUlgeUDEHHD LB iflefuc GTEuILIG)

(A) <S@ig Trevgd)
(B) &CGrmGenmeorgl)

(C) am myreas)

(D) ablibermensdl
S.1. unit for magnetic induction is
(A) NmA |

(C) Nm?*A

(B) Nm'A™

% lNA—lm-l

shs sierT_@ senen S.1. e

(A) NmA (B) Nm'A~
(©) Nm?ZA (D) NA'm*
1. The dimension of angu_lar velocity is 7'
IT. The unit of angular velocity is rads™

Comment about the above statements
(A) T is true but II is false
(B) II is true but I i1s false

@ BothIand Il are true

(D) Both I and II are false

1. Caner fHlensCaiaddlen uiflores eumiiun@: 771

II. Caran HansGeusibdlen .,-sleu@ - rads™

Gohaanr_ &@g&&mmu‘ugbgﬂ eflonél&Essea) b

A IQuw gyemed I Quml sahoéseam@Lb

(B) I Quows <parmed I Qumds sahmissermid

©€) T whpn I gdu Grar@id 6o sahpsseTm@Eid

D) T wogw Il géw GreamGid Guml shHmsseTT @0
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